
Rhythmische Gleichung V

Addiere die Werte von Noten und Pausen.

_______________________________________________________________________________
_

‰ + ŒÂ = 1 1/2

Ó. + ŒÂÂ = 4 1/2
Beispiele:

1. ‰ + Ô + ŒÂ + Ó. =

2. ŒÂÂ + Ó. + Ô + „ =

3. ‰ + Œ + ‰ + Ó. =

4. ŒÂ + Ò + Ô + ‰ =

5. Ó + . + Œ + ŒÂ =

6. Ó. + + ŒÂ + =

7. Ô + + ŒÂ + Ò =

8. Ô + + ŒÂ + Œ =

9. ŒÂÂ + Ô + Ó. + Ò =

10. Ò + + Ô + ŒÂ =

11. ŒÂÂ + + Ò + Ó. =

12. Ô + „ + ŒÂ + ‰ =

13. ŒÂÂÂ + ‰ + Ô =

14. ŒÂ + Œ + ŒÂÂ =

15. Ô + ŒÂÂ + Ó. + =

16. Œ + ‰ + ŒÂÂ + Ó. =

‰ = 1/2 Ò = 1/2

ŒÂ = 1 ŒÂÂ = 1 1/2

ŒÂÂÂ = 2

Rhythmische Werte:
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